M-P.E*b . Gedle No Qéa
17P/222f16

37

Set No. -1 Question Bookief No. ..o,
(To be filled up by the éandidm‘e by biue/black ball-point pen)

roine. [ | [ | LI |=

Roll No. . &

e —y [ & PO, . - _S—

Seial No. of OMR Answer Shest .............. =

Day and Dats .....oovione (Signature of Invigilator)

ok o N

o

10.

T s 1

12,
13.
14,

If a candidate altempts to usé any T of 1ufpisronews, hio/che %

INSTRUCTIONS TO CANDIDATES
(Use only Biuesbiack bait-point pen in the space above and on both sides of the OMR Angwer Sheet)

. Within 30 mimites of the issue of the Questien Booklet, check the Question Booklet to

ensure that it contains all the pages i ‘correct sequence and that no page/question is
missing. In case of faulty Question Booklet bring it to the notice of the
Superintendent/ Invigilators immediately to cbtain a fms%mm Baokiet.

- Do not bring any loose paper, writien or blank, inside the Examination Hall except the

Admit Card without its envelope.

- A separate Answer Sheet is given. It should not be foilded or mutilated. A second Answer

Sheet shail not be provided, Only the Answer Sheet toill be evalyated.

Write your .Roll Number and Serial Number of the Answer Sheet by pen in the space
provided above. -

. On the front page of the: Answer Sheet, wwrite by pen your Roll Number in the space

provided at the top, and by darkening the circles at the bottom. Also, wherever applicable,
wréte the Question Booklet Number and the Set Number in appropriate places.

. No overwriting is allwed in the entries of Roll No., Question Bookiet No. and Set No.

{if any) on OMR shieet and also Roll No. and OMR sheet No. ok thia €estion Booklet,

taken ag : ;
Each question in this Booklet is followed by four alternative answers. For each question,
you are to record the correct option on the Answer Sheet by darkening the appropriate
circle in the comresponding row of the Answer Sheet, by ball-point pen as mentioned in the
guidelines given on the first page of the Answer Sheet.

- Any changes in the aforesaid entries is to be verifiad by the invigilator, otherwise it will be
unfairmeans,

+ For each question, darken only one cirelé on the Answer Skiet, It 'darken more th
+one circle or darken a circle partially, the answer will be Feated as inggrmft. .IE o

Note that the awswer emce filled in ink cannot be changed, If you do » '
question, leave all the circles in the correspopdRE=YTRHun , wi’?k ;ﬂ atlempt 3
awarded zero marks). ahestion wiif be

Fe = - e
t 122 1]1::)1; érm* wuse the mnerbqt;k Page of the tile r;-t‘.*vfﬂ' 1and H:]_E blank Page at the

Deposit only the OMR Answer Sheet at the end of the Test. iy
You are not peraaitted todagie the Lxamination Hall until the end of the Test.

end of

punishment as the University ma d nirte and impose on him /her j_ bé liable 1o such

| sudes P ol # AP e Wi g

Total No. of Printed Pages : 48

: %

SEAL



FOR ROUGH WORK / 3% &1 & farg

&



MRED. tode M (457)

Sel?t
~ 17P/222/16(Set-)
No. of Questions / g ¥ T : 120
Time : 2 Hours ] | [ Full Marks : 360
WY 2 gud] | | [ ToIF: 360

Note: (1). Attempt as many questions as you can. Bach question carries 3 (Three)

1l

marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted. question.

mﬁmmm&mwmmﬁﬁrmmsm}ﬁm%am_

TorT BT B Ry vE aim wrer O TRw SgoRa Te @ e g
g

{2) 1f more than one alternative answers seem to be approximate to the correct

angwer, choose the closest one. .
o v dfors SR Wl weR 3 e wdie o, o Preom wd we ¥

'‘Ever forward' is the moto of ;

(1) Asian Games (2) Commonwealth Games
(3) Afro-Asian Games - (8 Gbppic.Garnes

TR e A e @ 7 .
(1) i o= (2) TETTH B

(3) WR-Tfrey e T ey e

2. The Turnvereine Movement: began from :

(1) Sweden {2) Denmark (3) Germany
A T oE @ ae e,
' 1) et Q.- @) S Y (3) iy

% Rigsis

(1) 3 “ v w

H'II P' T' D
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3. Psychology is the study of :

(1) Human Posture {2) Human Behaviour
(3) Human Performance {(4) Human Retations
AR e 2

(1) =fag o TORE TEw (2) =f¥F B HAEW
(3) =afer w7 HEHA (4) wfRel F w

4. Progressive growth in behaviour is called :

(1) Learning (2) Maturity
(3) Growth (4) Character
@qER B YA PR PEe € :
@ ¢ () Rl
(3) T () =R
5. ‘Which of the following somatotype has not been mentioned by Sheldon 7
(1} Omomorph {2) Ectomorph
(3) Endomorph (4) Mesomorph
ﬁﬂﬁﬁﬁmﬁﬂtﬁmﬁra—c&@mﬂmaﬁfﬁmw%?
(1) s (2) TEHI
(3) eI (4) e

B ‘Cnnditioned response’ thegry was put forward by

; 7} Pavlov
(1) Thomdike :

{(4) Mc Dougal
SRS pume— e s R

T T (@) TEAE
g ST (@) ¥ S
@ 90 '

.lE‘!
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Which of the following is not a law of learning ?

(1) Law of readiness ~ (2) Law of effect

(3) Law of et (4) Law of exercise

s # & e Wt @ P T R 7

(1) & a1 Py (2) @ = fram

(3) wifra =1 e (&) smare @ Prm

In Olympic motto 'Fortius’ means :

(1) Higher | (2) Faster

(3) Stronger | (4) Lighter

ot @ aredt-are % W o e & -

(1) = (2) @

(3) wifderemeh - {4) Eewr

'ALVEOLT is:a part of :

(1) Circulatory system (2} Nervous system

(3) Respiratory system {4) Digestive system

TRerd P ¥ R Rremr o g7

(1) eRTeERYT W @y £2) PR g% @

(3} 999 o &1 ) - (4) 9raT ¥ @7

Muscle contract but no niqdmnf takes place, is known as :

(1) lsomegric Contraction " - (2) Inotonig Contractiop

(3} Iso-kinetic Contraction : (4}.”. E&Efm ,F:"?Itfra'cu‘m

ot g R 8, L B Ry A R o

(1) SEERfE aRw 2) e g,

() IRR-FEARE TR 4) Sﬂs‘ﬁ%ﬁa'm
(3)

Elo
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11. ‘Plato’ is referred to as the father of :

(1) Idealism (2) Naturalism

(3) Pragmatism (4) Essencialism

QY B T B A S o %

(1) sredtanzg & (2) vEAE B

(3) et & (4) FFERIaETR @
12. In sprinting races, most important factor is :

(1) Legs power (2) Hearll size

(3) Legs length . (4) Type of muscles fiber

o i 2 N qE eRe

(1) O & wfae (2) B9 T AFR

(3) Wi B T (@) TR 7 3 WOR
13. ‘Trial and Error’ learning is also known as :

(1) Organised learning (2} Self learning

(3) Instinctive learning {4) Tnformal learning

e T e S W FE g

(1) =t S (2) ¥ SRR

) ‘F‘W afRrTH {4 Eati‘rqﬂ'iﬁﬁ <o

Contraction can also be called :

[sotomnic ;
14. (2) Sfatic Contraction

1) D'j'namiﬂ Contraction | |
atric ¢ Contraction (4) Bccentrie Contraction
B 2 T8 ﬂﬁ FE THU B
o ¢ ﬂ'a{fﬁ () fer Hag
mﬂlllm—;ﬂ ?; &) R S
@) =T "
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16.

17.

13]
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Which of the following event is not included in heptathlon ?

(1) High Jump 12) 100 M. Sprint
{3) Javelin Throw. (4) Discus Throw
fora & § W#M?ﬂﬂ?‘ﬂﬁ&ﬁiﬁ TR
' (1) 3 o2 2) 100 #o g
(3) wiom B | {4) vl o
Which of the following game does ;u:;f provide time-out during play ?
(1} Vollgyball {2) Football
(3) Haridball (4) Basketball
ﬁﬁﬁ%#ﬂ-ﬁ#—ﬁéﬁﬁwﬁﬁﬂww{aﬁwmﬂm TETE ?
(1) arefara , (2) wedma
(3) Esame (4) TP
Newton's 'second law of motion' is knc;wn as;
(1) Law of Inertia . (2) Law of Acceleration
(3) Lawof Rearﬁml | @) Law of Gravitation
gt 1 TRt e P PR e 8
(1) e @ P ) e o P
@) St a7 P @ ToEE a1 P
"Kyphosis" is the deformity of vertebral column at :
(1) Thoracic region o () Ldifberregion
(3) Clavical region (4) Cuccggeal région

mmwﬁﬁmm

(1) whodm " (2) *ﬁﬁtﬂa

RIS
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19. The term 'efflurage’ is concerned with :

21,

22

(1) Tramning (2) Coaching
(3) Exercising (4) Massaging
TR e A i 8

(1) fmror (2) HiZar

(3) =M & (4) wiiere HIAT

"Stadiometer” is used (o measure :

(1) Body weight (2) Height

{3) Flexibility (4) Agility
?%%WE{’WWWFWHTF%?}WW??-

(1) e ?ﬁT Tt (2) o

(3) FTAraTI . (4) TFUerRT

Kohler's theory r;-flleaming deals with

(1) Trial and Error (2) Conditioning

(3) Insight learning {4) Transfer of learning
mmaﬂﬁmwﬁa@mwmm%?

(1) Wity T@ ¥ S L (2) S

(3) afrafte afers (4) siferm T AR
Anterio-Posterior axis is also known as :

{1} Vertical axis (2) Sagittal axis

(3) Frontal axis (4) Longitudinal axis
Hmmﬂﬁmﬁﬁﬁﬁﬁwaﬁaﬁ?

1) FeAtER 8 (2) TRAATT 38

@) s {4) e AN

(6)



23.

24.
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Which is not considered as component of training load ?

(1) Intensity (2) Volume

(3) Density | (4) Diet

AR AR & BT} Pw e 78T wner i ?
(1) Hrrm (2) s (sr)
(3) =\ (4) mER

In which training profitable rest period is utilized ?

Q) Weight training

(2} Continuous training

(3) Fartlek training

(4) Repetition training | |
ﬁw##m_mﬁwﬁr%ﬁwﬁmawaﬁaﬁﬁ?

(1) ¥R gfdveo

(2) e wfdneoy

(3) wiomm ufdwioy

(&) gvrghr wfmvy

The test of significance used for comparing two means is -

(1) 'F Test {2} 't Test

(3) ¥® Test (1) ANOVA Test

& At A G S Rl T A e AR

(1) 'F wherer _ 2 e

(3) 1 e (4) TEr gler
{7)

PT0,
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26. Match the List-I with List-1I and select the correct answer from the code given

below :

List-1
[. Badminton
[I. Hockey
11l. Physical fitness
V. Volleyball
-E'odes:

d

C

List-1I

Harbans Singh Test
Lockhart-Mc Pherson Test
Russel Lange Test

. Fleshman Battery

W-Iﬁw-ﬂﬁwmﬁ_eﬂqﬁﬁ@fiﬁ s GX @A TR a1 o

I mm
yd ¢ b
@c b d
3a < b
(4) b a d
Hf -

-1
1 dsfrA
M. et
(1. =i e
[V, dfeiiarcs
F.‘

[ 1 I
md < °®
@) ¢ p d
@a © P
@b a 4

IV

(8)

-1l
Tvaq fHE T

| gtmed-temede gl

T o T

. e A
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27. Match the List-I with List-II and select the correct answer from the code given

below :

List-1 List-I
. Hamstrings : a.. Hips
I. Gluteus b. Back
I. Latissimus dorsi ¢. Thighs
IV. Gastrocnemius - d. Calf
Cﬂdgs..-- |

1 I m v
1) b a C d
(2) a d b c
(3 ¢ a b d

a1 -1
I #fRgw a. TR
L R b, @
lﬂ.mﬁﬂm c. @g
V. TgFfTs d. fivge
e

I n om v
(1) b a C d
(2) a d c

,....
ko
i
a
L= -
o

(9)
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28. Match the List-1 with List-IT and select the correct answer from the code given

below :

 Listd  List-II

. Realism a. Aristotle

I. Pragmatism b. John Dewey
lIl. Idealism c. Plato

V. Naturalism d. Rousseau
Codes ;

1 11 11l IV
e a4 a b
2)a b ¢ d
3) b a d C
(4) d C b a
[ L S gaf AR st T Fe @ MR W FE ST @l 94T

T

-1 -1
I TYaE o a. R
1. qeardEa b. o St
[I1. ameshars ¢, Twiel
1y. g d. Wl
gc-

{ n m v

(1) ¢ d =2 b

s ]
=
(g
oL,

2

(3} b
@d ¢ B 2
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29. Match the List-I with List-II and select the correct answer from the code given

below :

List-I
I. Flat foot

II. Kraus Waber Test
. Soccer Skill Test
IV. Johnson Skill Test

List-IT
a, Mc Donald
b. Basketball Skill Test
c Minimummu,smﬂarstrength
d. Pedograph

ﬂ-lﬁ@-ﬂ#%'%mm_@ﬁwﬁ@ﬁmw

Codes :

I 0 m-
b a 4 ¢
5 (2) d C a b
B b a c d
(4) a c d b

oo

-

I &R & 39e g
IL @ dav qdeor

1. geard aee sy
IV. S el qlemmr
Re -

I n nr
Wb a d o«
(2) d c @& b
3 b a d
9a ¢ d b

a. % e

b.  anETS W ey
c. A Ul ae

d. -ty

ELT.0;



17PR22216{Set-])

30. Match the List-I with List-11 and select the correct answer from the code given

below :
List-1 List-IN
[. Hinge Joint a. Knee
Il. Saddle Joint b. Thumb
111, Ball & Socket Joint c. Neck -
IV. Pivot Joint d. Shoulder
Codes :
I n m v
MHd a ¢ b
b 4 c 2
3 ¢ b d. a
4) a b d C
w@-:ﬁqﬁ-uﬁwg&ﬁ'ﬁaﬁﬁﬁaﬂ?m@r?ﬁwmwﬁwﬁw
AR - .
-1 -1
R Gl 1 a. g
n wamE® b, @t
111, SogEer c. T
(v, o ¥ I
[ g m
me 2 ¢ 7
av ¢,
me P
4a P d ¢

(12)
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31. Winning phenomenon in sports depends on learning of fundamentals in
following sequence :

(1) Skill, Technique, Tactics, Sl‘r:abeg)r

(2) Technique, Skill, Strategy, Tactics

(3) Skill, Technique, Strategy, Tactics

(4) Strategy, Technique, Tactics, Skill

e AR R B A s slve g w el A faorm wra & o qadt # 2
(1) Frgorem, s, 3T, sqges

(2) v, g, eV, gfe

(3) Froowr, oo, aggeere, gfe

(4) wgevern, weie, yfaw, fgrar

82 Select the correct sequence of presentmg subject matter in the class of Physical
Education :

4

(1} Correction, Dexﬁunstra'ﬁuil, Evaluation, Practice

(2) Demonstration, Correction, Practice, Evaluation

(3) Practice, Correction, Eva]uation, Demonstration

(4) Demonsteation, Practice, Correction, Evaluation

TR R 2w A R g av T B9 B T P
(1) e, v, yegiae, svam

(2) 5E¥H, g, T, e

(3) SrITe, R, i, Ee

(4) w, sy, GO, TP

(13)
P.TO,
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33.

4.

33.

36.

Which of the following condition occurs due to accumulation of Lactic acid ?

(1) Freshness (2) Fatigue

(3} Relaxation (4) None of the above
Aftes oRe o B Y fre 3 B Refl S Ed 2 7

(1) TeTI ' (2} oI

(3} @ (4) IR § A BE T
The strongest muscle in human body is:

(1} Quadriceps - (2) Rectus Femoris

(3) Biceps (4) Latissimus Dorsi
ey R F ey wirrme v € |

(1) Farghies (2) YocT FHEIRA

(3) FTERT (4) AR SRE
Sargent jJump measures : | |

(1) Explosive strungm. (2) Agility

(3) Flaxibility (4) Maximum Strength
TGO W R A E T

(1) faepres & (2) TS

(3) ATemu (4) W A

The most reliable measure of variability is :

(2) Standard deviation

(1) Mean

(3) Quartile deviation {4) Mode
receled e o A g

(1) @) ¥ R
(3 v SR

(14)
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33,
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Number of matches in first round of knock-out tournament of 23 teams will be :

(1} Seven (2) Eight
{3) Six (4) Nine
23 Tt B Aig-anae g &y @ § dat o wem B
(1) | () se
3} ® ‘ ) R
Calory isa meaéurement unit of :
(1) Liguid (2) leat
(3) Solid (4) Cold
FAR T AT T gHE 27
(1) 7= (2) T
(3) 3\ (3) wom
Purpose of test is measured through :
(1) Reliability (2) Validity
(3) Objectivity (4) Split half method
T8 BT St e A O o 8 7
(1) fvawfraar : (2) Eerer
(¥ egwa | (@) Rete o vaR
The value of coefficient of correlation ranges between :
(1) (00) to (1.00) o @) (D)oo
(3) (1.00) to (00) (4) (-1.00) to (1.00)
HEEEH & oS & 3 oy goh § gy 2 0
(1) (00} ¥ (1.00) o . 2 )=o)
(3) (1.00) ¥ (00) @) (-1.00)% (1.0p)
(15)

. PT.G
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41. Mode is a measure of central tendency. It is considered as -

(1) Average of Scores - (2) Most frequen-tly occurring score
{3) Valuein the middle (4) Sum of scores
Heary H@%ﬁﬂﬁﬁ%ﬁﬂﬁ‘rﬁg'%1 3 PBE T &
(1) ¥ T A (2) TR-HR WIEE A
(3) A (4) ¥R N B A
42, Tnsulinis secreted by
(1) Liver (2) Pituitary
(3) Pancreas (4) Thyroid
e @ T B E
- (1) fear | (2) freaed @
(3) UAfrara & (4) wRdiEe ¥
43. School health programme does nof include :
(1) Health insruction (2) Health supervision
(3) Health service (4) Health research
wﬁawaﬁﬂﬁ%ﬂﬁmﬁ 78 e 7
(1) e aaE SR (2) @R G
(3) <@reen A (4) VAR ST
44. A score to whichan obtained score is compared is:
(1) Data (2) Norm
(4) Grade

l:"} P rimar}' Score

ﬁﬁmﬁ{@mwﬁﬁﬁﬁmqﬁm%:
@
(3) WRIME wWR
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46.

47.
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Bones of human body are classified on the basis of :

(1} Structure and Function {2) Location and Attachment
(3) Size and Shape (4) Joint and Movement
T TR B st R s 0% g @ ) 2 2
(1) ¥=1 0§ 3 : (2) v vd g
(3) o= v N (4} T ga afafafy
First step in sport management is -
(1) Budgeting (2) Co-ordinating
(3) Planning : (4) Directing
ool wEET F we wwe g §
(1) awic Fmfo ) v
(3) g | (4) Fde
Haemoglobin is found in : _
(1) RB.C. | (2) W.BC.
(3) Platelets | | (4) Borie marrow
ArefaT frest arar o & 2 _
(1) ¥Rodlodo 2) s=gododlo
(3) wieetgwr 4) a9 &R
Which of the following is known as the building blocks of body ?
(1) Proteins (2) Carbohydrates
.(3) Vitaming (4) Minerals
s o @ SF-ar we TR B wmg gy @ 2
(1) = (2) FEtETEReE
3) et @ fres

LA

PTo
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49, The area in which, the sporis management must #ot perform is referred to as :

50.

(1} Evaluation in sports (2) Innovation in sports
(3) Organising sports meet (4) Leadership in sports
&y o e o T 78 o AR, 9 A FEd
(1) Q@ Jurea (2) Wel-A4Tdre

(3) wa wiaafar g s (4) WE-IA

The first institute in India to propagate the cause of indigenous Physical
activities 15 |

(1) Y.M.C.A., Madras

{2) LN.LP.E., Gwalior

(3) H.V.P.Mandal, Amravati

(4) B.H.U., Varanasi
“ﬁﬁﬁﬂwuﬁfﬁm&n%ﬁﬁuﬁm@rﬁﬁwfﬁmﬁiﬁ\ wonfya fewar 2
(1) ar§oqHuEIeTo, HRTH

(2) ¢doTHodTgotoFo, TR

(3) vmeiode dea, SRRl

(4) doTHoYo, JRTorEY

51, Which of the following is considered as genetic endowment ?

2} Flexibilit
(1) Endurance (2) y

(4) Strength

(3) Speed ?

(2) Temas
v (&) ¥
3) WM

(18)
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Which of the following is not a criteria of a good test ?

(1) Objectivity s (2) Subjectivity

(3) Reliability (4) Validity

1 8 & B 1 T W @ Aveve e 0

(1) Fegfrear : (2) SR

(3) Freaerivger (4) Terem

Which of the following is responsible for muscular fatigue ?

(1) Pyruvic acid | (2) Glycogen

(3) Lactic acid {4) Succenic acid

ﬁﬂﬂﬁ@ﬂﬁﬂﬁﬂﬁ%ﬁ%%ﬁﬁﬁﬁﬁﬁﬂm%?

(1) arefie whrs ) (2) vemgdifaq

(3) wfFea T (@) s oRre

Strluch:ral and functional unit of life is know as : |

{1} Tissues (2) Muscles

(3) Cells (4) Ligaments

ST F WO O B wE 5o weend @

(1) Reqw (2) e

(3} ¥ew @) formi=s

Voluntary muscle is found in :

(1) Hands . (2) Wings

(3) Glands (4} Heart

wites RN g ord ¥ N

(1) el & - @ wiry

(3) Wiend @) v
(19)

P.T.0.



17P/222/16(Set-l)

56.

37,

58.

59,

The 'Pleura’ covers the

(1) Hleart (2) Lungs
(3) Abdomin ' {4) Kidney
L P W R sTam R P |
(1) ggg @ (2) WS @l
(3) FTIeE @l (4) TIF T
The longest bone in human body is known as :

(1} Radius (2) Ulna
{3) Tibia {4} Femur
wfem & i # wad o) B @ AW R

(1) aay (2) et
(3) fefear (4) W

Which of the following is ball & socket joint 7

(1} Elbow Joint (2) Shoulder Joint
(3} Wrist Joint (4) Knee Joint
fr=1 % 9 ¥-7 979 {vs wree wdigw g 7

(1) @it = g (2) T F AL
(3) waTE P ATE (4) Yo w1 e
The valve situated between right auricle and right ventricle is known as :
(1) Pulmonary Valve (2) Aortic Valve
(3) Tricuspid Valve , (4) Mitral Valve
a‘ﬁ&ﬁ??ﬂﬁﬁ%ﬂﬂ%ﬂﬁﬁeﬁmﬁﬁwmﬁ?
m UEAE e (2) w&ifcs aeg
@3) grREE(Ts T ) P

(20)
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Aialosical sge e b deeided by
{1) Calendar vear {2) Height of skeleton
(3) Secretion of hormones . {4) Osﬁﬁcaﬁun of bone
Tl Rl oy B ¥ W e PriRa @ o & 7
(1) fframd (2) ToTE B SHug A
(3) ket ¥ | @) IRer & siRfrdT
Fuidamental skill Instep Kick' is associated with the game of ;
(1} Swimming (2) Taekwondo
. {3) Football (4) Wrestling
7 B T oo e e & W # 7
(1) (2) ergTy
(3) HeaT 4) Tl
‘Rangaswami Cup' is associated with the game of :
(1) Hockey 2) Judo
(3) Football (4) Volleyball
ST e W W WA 7
{1) et (2) 9
(3) gear ' (4) dtdha=
Which of the following term is associated with the game of 'Hockey'?
{1} Bully (2} Gully
(3) Flyball (4) Rolling ball
Pt & & @ e ot Qo & i &
(1) T @y
(3) v T - @) T A
| (21)

P.T.0.
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64.

65.

"66.

67.

Fundamental skill Round hand service' is associated with the game of :

(1) Badminton 2) Tennis
(3) Volleyball {4) Cricket
gl G VI s wine fw o | gwEiya 27
(1) wefes (2) e
(3) dieiard (4) frde

The number of water jumps in 3000 Mts. steeple chase are :

(1) Seven (2) Ten

{3) Fifteen (4) Twenty Eight
3000 o et s ¥ Rl arey o QA £ 7

(1) e {2y a9

(3} w=E (4) ercerRd

In long jump wind velocity is measured for the period of :

(1) 105econd (2) 5Second (3) 15 Second (4) 20 Second
e wg o # arg o 4 R W @ ferd AT ol B 7
(1) 10 96U 2) 5%av8 (3) 15 W@Ts (4) 20 9T7S

In Baskethall wh-i-':h of the following is considered as foul 7

(1} Double drible , (2) Running with the ball
(3) Shifting (4) Pushing the opponent
T B Aw ¥ Fre ¥ AR wrew A IR 7

(1) & R ffact @l | (2) 9= @ T =gl

3 el (e ) (4) RO @ wwm &

(22)
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68. Volume of air remaining in the lungs at the end of the maximal expiration is
known as :

(1) Tidal volume

(2) Expiratory reserve volume
(3) Residual volume

(4) Inspiratory volume

mﬁmwwﬁmﬁﬁmmﬁﬁgwﬁwﬁw
wE & 7

(1) &&= arg oA
(2) foreama smfde w= WM
(3) smafee a9

(4) WeEET 9THE

89. The outer most covering of muscde is called :

(1) Perimysium (2) Endomysium
(3) Epimysium | (&) Sarcolemma
T 3 FEY qEd s o FEd §
(1) el . @ TR
(3) wirsfvm (4) wveter
70. 'Bile juice’ is necessary for the digestion of :
(1} Proteins (2) Fats
(3) Carbnhydrates | (4) Vitamins S
mwﬁw#ﬂ%ﬁwaﬁﬁmﬁm%?
(1) WA ' -(2) T
(3) wrETETERe (4) Refiyy
| (23)

PO
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71.

72,

73.

74.

Which of the following muscle is responsible for the extension of arm ?

(1} Biceps (2) Triceps

(3) Deltoid (4) Pectoralis major
fre7 4 & wiaeh ekt argfoefy @ R SmeaE) @ ?

(1) argeeg (2) ey

(3) Seerrs | (4) TFORRE TR
The dimension of Kho-Kho ground is :

(1) 26mx 4m (2) 28mx12m
(3) 29mx 16 m (4) 25mx 15m
- Bl F AW R

(1) 26 Hlo % 14 Ac (2} 2840 x 12 #
(3) 29 Fto x 16 M (4) 25 %tc % 15 o

The inward rotation of forearm is known as :

(1) Retraction (2) Protraction
(3) Pronation {(4) Supmation
STATG 1 IR DY AR YA BEA &

(1) Rgmr 2) g
(3) yre (4) g
The muscle is attached to the bone through :

(1) Connective Tissues {2) Tendon
(3) Ligaments (4) Cartilage
At et & frad g 9 <Ed € °

(1) Fea feeqw (2) &=

@3) Rrmied (4) T

(24)
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Ts (]

78,

(1) R (2) o= @ Bm

17P/222/16(Set-l)

The normal blood pressure of an adult is :
TS AT & WG YA BT E
(1} 120-90 '(2) 125-80 - {3) 120-85 (4) 120-80

The relaxation phase of each heart beat is called :

(1) Systole (2) Prediastole  (3) Relaxing (4) Diastole
g7a B waT Wed # aRM 31 Rl Fee 8

O fem @ dewwm (@) Rafem () TR
Which of the following provide maximum energy to the body ?

(1) Carbohydrate (2) Fats (3) Protein (4) Vitamin
R 3 sfwan wat B 4 | s g wra 8:f 2 7

(1) FRREge () @ - (3) @) Rerfm

. Which of the following is developed by "Fartlek Training” ?

(1) Strength (2) Speed (3) Endurance (&) Agility

‘weow wRrer & g B 4§ e fAera @ o @ 2

(1) ¥ (2) ey (3) TETHR (4) emeen

Muscular strength is measured through :

(1) Dynamometer (2) Ergometer {3) Odometer (4) Flexometer
I e o e g A WA 2 7

(1) srmider  (2) oy (3) shepireR {4) v
‘Cold Compression’ treatment is given for ; |
(1) Fracture (2} Cramps .- Eé')_gpl‘ain
P FILT ATHD sﬂﬁxf‘;‘%ﬂ%‘ﬁﬁﬁmmé? |

{4) Strain

9 Ted
. (25)
) PTO.
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81. Match the List-I with List-II and select the carrect answer from the code given

below :

List-1 List-I1
. Carbohydrate ) a. Buoyancy
fI. Lactc acid b. Pulse rate
HI. Exercise ¢. Energy
V. Swimming d. Fahgue
Codes : f

] I 11 IV
e d b a
@bec a b d
(3 b d «© a
(4) a ¢ b d
-l @ G-I & @iea HIR ok ved ge @ amR w® gE SO 61 T

s

-1 -1
. #EEEsSe a. A
1. @fes e b. AR @ gSEA
1L, = |
{v, R ' d. weH
agé_" .

[ I 11l v
(1) «© d b
ge = B X
b d < °
(4) a C b d

(26)
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B2. Match the List-I with' List-IT and select the correct answer from the code given

below :
List-1 ‘ List-II
L Medicine ball a, Gymnastic
II. Trumpolin b. Exercise
III. Erogenous aids ¢. Medicine
IV. Aerobics d. Marathon race
Codes :
I on m v
‘Ma ¢ d b
@b, a ¢ d
(3) b d ¢ a

{4) . d c a b
@1 By @il § gt HRR Ok WU ge 3 auR W W BT @ 94
P ‘

i1 ESlal

1, "R st a. fornfies
II. grfes | b. @mEM
1. g WEus -
V. Wifaer ' d. e a‘#a
= .

1 n m v
{1) a C d b -~
@b a ¢ @
3) b d ¢ a
Wd ¢ a b

fE;;

b PT.O.
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83. Match the List-I with List-II and select the correct answer from the code given

below :
List-1 _ List-IT
. Power lifting a.  Agility
. Banch Press b. Sport
HI. Verticle jump ¢.  Explosive power
[V. Shuttle run d. Exercise
Codes :

l 11 ITI IV
Mb ¢ 4 a
(2] d C b a
(3) b d ¢ A
(4) ¢ b a d |
-l & gdLll @ gafera oIt ok wew ge & R W §E et @l eoe

AT -
-1 w11
1. s ferfden a., TR
il == ¥ b. @&
[, T T ¢, famies view
IV, 7ed 3 4 am
Fc !

1 n I v

—
—
T
=
-
j='
]

(28)_
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84, Match the List-I with List-11 and select the correct answer from the code given

below :

List-1

L. Cyclocity of training

II. Training cycle

List-II
Velodrum
b. Principle of sports fraining

L. Cycling c. Periodisation
IV. Stretch-shortening exercises d. Plyométric
Codes : |
1 o II v
I
@b .a d ¢ .
(3 a d b C
4) b C a d
Wi 3 g @ Pl HRA ok waT FE P IER W vl TR B WA
R
i oI
1. wfderr F wfbaar a. darg
1. sRew % b, e ufery 1 Rrgre
111, wEfha FemT ¢ WEULEE
iv. fegn-tdgun = d. <HARS
7€ |
I o m v
Mmd b a ¢
b a d ¢
Ma d b e o
@b ¢ a d —

(29)
P10,
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85.  Match the List-I with List-II and select the correct answer from the code given

below :
List-] List-TI
. Ideo-motor training a. Training method
II. Ballastic method b. Mental practice
L. Physiotherapy ¢.  Flexibility
V. Fartlek d. Re-habilitation
Codes :
1 i mrw
Wb e d a
{2) ¢ d b a
(3) a c b d

Md b a ¢
a1 F7 wE-ll 8 gEitn S ok uew ge @ amR w @Et o & T

hifard |

-1 il s (O
1. sfeal-giev wieor a. Wemor fafer
1 sdliees faf b. “AMfHS AT
111, Biforaerd e e
V. Bl d. Rl # @
&

e d
(3) a

@wd b & ¢
(30)
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86, Match the List-I with List-II and select the correct answer from the code given

below :

List-I : List-1T
I Boxers ' a. Matman
II. Basketballers ' b. Spikers
HI. Vul]eyi:allers c. Pugulist
IV. Wrestlers d. Cagers
Codes :

I It I Y
Ma b d ¢
@b ¢ d a
e d b a

4d a ¢ b .
qﬁ-laﬁ@-uﬂgﬁ&ﬁa%ﬁr&aﬁ?m#%anﬂﬁwﬁwmm

#ferd

A1 AL-II
L W a. WS
. sIracas Raady b, wWEH=
1L dicfarer ez . geRE
V. Ugdam d. do
%

I o m v
(1) a b d c
@b ¢ d. a
(3 < d b a
@d a ¢ b

31
L2H) PTO.
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87. Match the List-I with List-lI and select the correct answer from the code given

below :

List-I List-]I
I, Endurance a. Sit & reach Test
1. Speed b, 50 Mts, race
I Agility | c. 600 Mts. race
IV. Flexibility d. Shuttle run
Codes :

! n m ’

(1) c b d a

@b 4 a c

Ba < b d

(4) d B s b

- B G @ G AR R Taw gE B OMR W ad GTR @ 9
B -

il -0

I Header a. fire ¢vg dm e
noR b, 50 #o dre

III. Tueicl c. 600 o TTS

IV, ereenge d. Mea T

i Twili

(o]

I g moWw

o
.
¥

(1) c
mb d a ¢
{3) a ¢ b d

@d a ¢ b
(32)
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88. Match the List-I with List-II and select the correct answer from the code given

below :
List-1

. Hockey

. Tennis

[, Football

1V. Badminton

I
b

]

b
b

v

d

it

d

List-I1
a, Davis Cup
-b. Rangaswami Cup |
Santosh Trophy

d. Swethling Cup

TR B L | GERE SRR SR TET ZE W awR W §E TE B AU

Codes :

1 I
(1) a d
(2} b a
(3) ¢ d
(4) a c
I

-1
I. gt
. 29
ITl. wese
V. qefives
%

1 i
ha d
(2) b
(3) ¢ d

{4) a C

I

UL
< 7y
IMW
Ty gt
Wl Fv

R

A
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89. Match the List-I with List-II and select the correct answer from the code given

below :
List-1 List-II
[.  Chip shot a. ﬁasketball
II. Mule kick b. Volleyball
111. Flﬂﬂt‘ing serTVice ¢. Football
V. Jump shot d. Kabaddi
Codes : '
] oI o v
(¥ e b d a
(2) b d ¢ a
3) ¢ d b a
4a b < d :
gL @ - @ e AR R e g @ SR W WEl ST il wa
B
o1 w11
L R a. WEBCAA
I = e b. dicllard
1, wEfE e S AL
p— - d TEEd
T
I 1 u IV
) ¢ b d a
e ¢
me &0
b ¢ )
(4) 2

[34)
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80. Match the List-1 with List-IT and select the correct answer from the code given

below :

List-I List-IT
I. Straddie role a. Gymnastics
1. Sail style b. Table Tennis
Ifi. Cartwheel ¢. High Jump
IV. Top spin d. Long lump
Codes :

I. i i v
Ma d b g
@b d ¢ a

(3) a c d b
(4) ¢ d a b
qh-1 & GE- ¥ Yife DR ok Tww g 3 smR W owd W @ 9

B -

T -0
L. B el a. Frfes
. ¥ R b. 2Ra R
1. e &t | c. FRHw
V. et R 4. @b 5w
7 - e

i o m IV
(1) a d b 2
2) b d ¢ a -
(3) a o« d

(35)
PTO.
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g1.

92,

93.

94,

Which of the following country was the host of T-20 Cricket World Cup-2016?

(1) India (2) West Indies

(3 Pakistan {4} Sri Lanka

1§ B 2w 2020 Brde fivg w9 2016 &1 7599 ) 7

(1} s (2) TwgEN

(3} ufdars (4) Hermr

Who is the winner of T-20 Asia Cup Cricket Tournament-2016 7

(1) India (2) SriLanka (3} Pakistan (4) Bangladesh
€120 TR @y fide WRRMTL2016 & Reie) ol & 2

(1) wa Q) s (3) witheaTd (4) armY

On which day, 'National Sports Day' is celebrated ?

(1) ath April (2) 29th August
(3} 10th January ' | {4) l?t.h September
T G faw 5w fm wmn s @2

1y 6 wta Y : (2) 29 s ®)

(3) 10 sA=d T (8 17 R #Y

Who has won the maximum medals in Olympic Games till 2012 ?

(1) Larisa Latynina (2) Michael Phelps

(3) Marks 5pitz (4) Darren Clark

aﬁm@aﬁﬁ'ﬂﬁmuwwmﬁﬁwﬁmﬁcﬁmg?

(1) e ERIC|G] (2] AGEE BT
(3) wEd fEs §) T

(36)



95.

97.

[ <]
17P/222/16(Set-)

Which of the following date has been declared by U.N.O. as “International
Sports Day" for "Development and Peace”? :

{1) 2nd April (2) 6th April

@ 6th May (4) 2nd June

i T W'Y e ¥ Y e R R @ w3 R s O
g oYRe PR & 7

(1) 2 3l & (2) 6 &b B

() 6,74 @I (4) 2 5@ B

Which of the following date has been declared by UN.O. as “International Yoga
Day"?

(1) 29th August - (2) 6th April

(3} 18th July | (4) 21stJune

wgw e @ Y e # @ e Rl @ amrisiy a9 Ray aifte fear @ 7
(1} 29 arret &t (2) 6 3¥d P
(3) 18 T B ® 71 %\ 9

Which of the following is the oidest ‘Spart Newspaper' ?

(1) SportsWoitd. . (2) Wisdon

(3) Gazzetta Dello Sport (4) Polskie Gazety Sport
e # W Ee O O SRy F ¥ 7

)

(1} ¥« 9T (2) P
(@) o ¥ C LR o

37
i P.T.0.
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98. What is the name of ‘Indian Flying Sikh' ?

89.

100.

101.

(1) Kartar Singh (2) Boota Singh

(3) Bahadur Singh (4) ‘Milkha Singh

TR I fow o1 aqr 9 & 2

(1) @ear RiF (2) ¥ Rie

(3) R Rie ' (4) frean fife

The team of which sport, consist of both man and women plavers ?

(1) Corfball (2} Netball (3) Softball (4} Baseball
1 % 91 fe we B Em 0 HiRe o goy QAT Ryerdl B 7

(1) o (2) e (3) wreeam (4) S

The word Pommel Horse' is related with :

(1) Horse riding (2) i’alu
(3) Gymnastic ; (4) Durby
Vi U B e 2

(1) geuar | (2) Hre d
(3) Rreiess @ @)

The age of a man is three times the sum of the ages of his two sons. Five years
hence, his age will be doubled of the sum of the ages of his sons. The father's

present age is
{1] Al years I:?.] 45 years (3) 50 years (4} 55 years

.,mﬁmmﬁgﬁaﬂaﬂjﬁw&?ﬁ?ﬁélmﬁﬁaaﬁm
ZﬁrmaﬁgﬁaﬁmﬂﬁﬁﬂiaﬁmﬂQM|ﬁm#ﬁmm%:

(1) 40 Rk (3) 50 79 (@) 55 a¥

(38)
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103.
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The length of the longest pole that can be placed in ﬁ room 12 m lung. and ¢ m

wide and 8 m high is . .
(1) 12m (2) 14m
(3) 17 m " {4) 21m

12 Fo A, 9 Mo AR e 8 Mo I T ¥ v e T wigo (e @
W HEAT B 7

(1) 12 #o (2) 14 Ao
{3) 17 o | (4) 21 Ho ,

With reference to the human body, consider the following statements :
A. The production of somatotropin goes up when a person exercises,

B. Men's testes produce-progesterone.

' C. Women's adrenal glands secrete testosterone.

D. Stress causes the adrenals to release very less amount of cortisol than usual.
Which of these statements are correct ? |

(1) AB,CandD . @ ABandC

(3) B,Cand D (4) AandD

A TR S s ¥ Peaff Su T AR AR ¢

A, Wwwﬁﬂw'ﬂm%,ﬁmﬂﬁﬁﬁﬁ#—wﬁﬂm

B. Wyl & T T W A AL

C. Rl @ oy (ifiges) HRmE eI wilgd Fw €

D. o (@) @ TR0 R (ufges) e @ e age W owm A
Fretee gad @al 8 |

T & S TeE e e ? .
(1) AB,C®D - . 2 ABwWC

() B,CTD . @®aAwWD

(39) P.T.0
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104.

105.

106.

107.

Which country among the following has been involved in two ties in Test
Cricket ?

(1) Australia (2) India

(3) West Indies (4) England

f3 4 % e A Sve e % S AR o Ty O Wi & 0

(1) smeferm (2) "R

() Feegwe (@) s

In a bisexual flower, if androecium and gynaecium rfmture at different times,
the phenomenon is known as :

(1) Dichogamy - | (2) Herkogamy

(3} Heterogamy (4) Monogamy
GwﬁlﬂqﬁﬁuﬁWw'mﬁTﬁﬁmwwﬁqﬁ‘maﬁﬁ o
UTAT BT W SIar

(1) Feprird (2) et

(3) sed (4) A=

When the time in the wall-clock is 3.25 p-m. the acute angle between the hours-

hand and the minutes-hand is :

VP T A T B 325 a0 ¥ 9w o v A o ol e ) < @
A AN B

(1) 60° (2) 5240 (3) 473> (4) 42°

‘Chapchar Kut'is a festival celebrated in the State of :

(1) Arunachal Pradesh {2) Assam
(3) Mizoram (4) Sikkim
g ge e b wou A e w87
(1) areoaa Kl (2) s
(3) i (%) R

(40)
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110.
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Foot-and-Mouth disease in animals, a current epidemic in some parts:of the
world, is caused by :

{1) Bacterium (2) Fungus

(3) Protozoan {4) Virus

frer & o it % R A T v dE A AR o wEed & w9 8 W
T & | SRTHT ER & -

(1) FFRaw @ W

(3) ST (1) e

Who among the following won six Gold Medals in the 9th 'FINA-World
Swimming Champlenshlp held in Fukuoka, Japan in the year mm ?

(1) Grant Hacketl AR) _Ian Thorpe
L ""_'"____ . ¢
(3) Michael Phelps (4) Roman Sloudnov

ﬁaﬁﬁaﬁqaﬁﬂl#w&wmﬁmmﬁmaﬁwm
M#mmqﬁm?

(1) e ¥e (2) s O
3) mged vEE (4 RS

A Woarld Sumintit with Imreﬁentahnn from _ﬂthe countries was held in

_]olmnnesbnrg in Sept:emher 2002 ot the sub]e-:t of: T

(1) AIDS cnntr{ﬂ T L}"ngbal'ferronsm

(3) Human Rights . - {4) Sustainable Deve]um .
WWEW}ﬁWWWWﬁw&HWWW
farvg-wrder gam ? f‘\\

(1) TEH Fuse——" ) 4w e
(3) AFRAR A &) =g P
(41) T

P.T.0
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111,

112.

3.

114.

115.

Assume that the moon takes exactly 30 days lo complete the cycle and also
assume that it rises in the Fast exactly at 6.48 p.m. on the first day. On the
fourth day, at what time will it rise 7

T AN w30 R ¥ O9-8% tr a9 O B § qun gg o 5w Ay
& uger fom 98 g # de-dd 648 pm. W W &) 9 R wHG T W
T R g Y :

(1) 824 p.m. @) 9.12 p.m. (3} 10.00 p.m. (4) 1148 p.m.
The sports person Soma Biswas is associated with :

(1) Sailing (2) Hockey (3) Golf (4) Athletics
Raad) G fimang fay grafig & 2 :

(1) o (2) &t (3) e (4) teRfrmn

In the FIFA World Cup Football event in the year 2002, the number of goals
scored by Ronaldo of Brazil was: )

BT Hed w0 FEara-2002 ¥ I & U4Ee] gRT e e feg w7

() 6 (2} 7 A (3 8 (4) @

Who won the e in: the finals of French Open Men's Singies Tennis
Championship in the year 2002 ?

{1} Albert Costa (2) Juan Carlos Ferrero

(3} Andre Agassi : (4) Pete Sampras

af 2002 ¥ a9 e I Rina 2R dfRgdliv @ s F 3 faud
@

(1) VeIgd BT (2) AT BT TR

(3) ¥ ATl (4) drz Fﬂm{

Nanda Devi peak forms of a part of :

(1) Assam Himalayas (2) Kumaon Himalayas

(3) Nepal Himalayas (4) Punjab Himalayas

Wﬁ@ﬁw?ﬁﬂ%:
M %Wﬁmﬂuﬂ“'fﬂ

- (d) T e e

(42)
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Who Headed the Interim Cabinet formed in the year 1946 ?

(1) Rajendra Prasad ' (2) Jawaharlal Nehru
(3) Sardar Vallabhbhai Patel (4) Rajagopalachari
5 1946 ¥ o safn PRAT T emy BH @ ?

(1) = T (2) TR e TEw
(3) V&R oS R (4) TS
The leader of the Bardoli Satyagraha {1928) was :

(1) Sardar Vallabhbhai Patel (2) Mahatma Gandhi
(3) Vithalbhai ], Patel (4) Mahadev Desai
gefel weura® (1928) & wew & o7 7 '

(1) §ER oo w@eE (2) HERET T

(3) fagerr o w2H (4) wEE AWE

‘A" and 'B' are two fixed points:in a field, A -:Elist ‘C’ moves such that £ZACB is
always a right angle. In this context, which ene of Hefollowing statements is
correct ?

(1) The path followed by the cyclist isan ellipse
(2) The path,followed by thie cyclist is a dircle
(3) The path followed by the cyclist is a;n Exponeﬁtial curve
(4) This type of motion is n:::’r pﬁé’m‘hle
(1) e W g S R U7 R
(@) wEfiver TIee ALY < v 7
(3) Fel o G T RN < g R
(4) wﬁﬁwmmmw%! |
o (43)
P.T.0.
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119.

120.

Which one of the following statement is not correct ?

(1) The National Song ‘Vande Mataram’ was composed by Bankimchandra
Chatterji originally in Bengali,

(2) The National Calendar of India based on Saka era has its 1st Chaitra on 22
March normally and 21 March in a leap year

(3) The design of the National Flag of India was adopted b y the Constituent
Assembly on 220 July, 1947

(4) The song ‘fana-gana-mana’, composed originally in Bengali by
Rabindranath Tagore was adopted in its Hindi version by the Constituent
Assembly on 24 fanuary, 1950 as the National Anthem of India,

P & & 81901 T mod W A o

(1) Tt e o= ey s qodll @R e o7 @ STl & var e A

2) 7% Wy ® IR WG FT U voum WA 5o S 22 T @

ol (@ dax) A 21 A @ vem )

(3) 9RT @ G S B RET 22 T, 1947 B HHRE-wT TR DR
ar| :

(4) e SR 1 qEey § @Rl ¥ MmN T e a1 R R 24
T, 1950 B W9 gRT YRS @ UL B w9 F St T

Which one of the following statements is nof correct 7
(1) Milk contains none of the B-vitamins. '
(2} Vitamin-A {retinol) deficiency leads to dry and scaly skin.
(3)- One of the symptoms of scurvy is pain in the joints.
(4) Vitamin Br (thiamine) deficiency can lead to heart failure.
ey § § DI DU T T8 R 7

(1) 2u 4 Rerf B <€} ur S |

o) it A () # B W o e T TRRER € ol &)
) il @ T A e T g 2

(8 R By (o) T T & g 8w d

(44)



FOR ROUGH WORK /Y% &1 & farg

T ———
T h"'ﬁ.. ; '
e ——
——



HLER
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